

POMPANO BEACH LOCATION 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

JUPITER LOCATION 15335 PARK OF COMMERCE BLVD JUPITER, FL 33478

Date	Estimate #
7/2/2024	50429

Official Estimate

TENNESSEE LOCATION 933 CARTHAGE HWY

LEBANON, TN 37087

Bill To:	Ship To:
CITY OF LAUDERHILL PD ATTN; ACCOUNTS PAYABLE 5581 W OAKLAND PARK BLVD LAUDERHILL, FL 33313	CITY OF LAUDERHILL PD 6279 W OAKLAND PARK BLVD. LAUDERHILL, FL 33313

Reference	24 F150 PPV COMM REL	NO BOX X2			
Product		Description	Qty	Cust. Price	Total
16518177		S MAIN VEHICLE WIRING HARNESS FING HARNESS 16518178 AND SPEA	KER 2	158.82	317.64
16518178	STANDARD STROBES-R-US	S ADDON HARNESS TO WIRE PUSH TH MAIN HARNESS 16518177 AND 180	2	23.90	47.80
16518180	STANDARD STROBES-R-US SPEAKERS. USED WITH MA	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BUMPER HARNESS 16518178			27.80
183-0008		nal with manual reset, surface mount	2	52.00	104.00
BSFW47Z-WCX-RB-W	WECAN X FRONT INNER EL WHITE OVERRIDE	DGE DUO F150 1/2 RED 1/2 BLUE WI	TH 2	2,845.16	5,690.32
BSRW10-ISR47-WCX-RB /A	1/2 RED 1/2 BLUE WITH AM			0.00	0.00
C399	CONCOM CORE AMPLIFIER CCTL7 TOUCHPAD AND CC SIREN)	R CONTROL MODULE (CAN ORDER TLMIC MICROPHONE FOR COMPLE	TE 2	0.00	0.00
CCTL7	WECAŃ X SLIDE SWITCH W ALSO INCLUDES CCTLMIC	/ITH 21 PUSH BUTTON CONTROL HE MICROPHONE KIT	EAD 2	0.00	0.00
C399K7	OBD II CANPORT KIT 2021 F	- -150	2	0.00	0.00
CEXAMP	WECAN X EXTERNAL AMPL	IFIER FOR DUAL TONE SIREN	2	0.00	0.00
CV2V	WECAN X VEHICLE-TO-VEHICLE SYNCH MODULE		2	0.00	0.00
SA315P	SA315P SPEAKER, BLACK PLASTIC		4	0.00	0.00
SAK1	SA-315 MOUNT KIT UNIVERSAL "L" BRACKET		4	0.00	0.00
5297T-6SRU	2021+ F150 POLICE RESPO LIGHT CHANNEL AT TOP AN	ES-R-US REVISION PUSH BUMPER F INDER VERSION. INCLUDES 6 POD ID ANGLED SIDE BRACKETS TO HOI LSO INCLUDES PAIR OF WIRE COVE TEEL MATERIAL	_D	444.98	889.96
COMMANDERELITE6-3R 3B	DUO 6 POD COMMANDER E	ELITE WARNING AND DIRECTIONAL FOR SCENE 3 RED 3 BLUE PODS	2	408.00	816.00
SRUS12D-RB-W	DUO 12 diode surface mount RED/BLUE WITH WITE OVE	light head, black base (12~24VDC) RRIDE 36" CABLE	4	93.00	372.00
			Sales Tax (7.0	00%)	\$0.00
				1.00	
Phone #	Fax #	E-mail		eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR0	DBES-R-US.C	OM



POMPANO BEACH LOCATION 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

JUPITER LOCATION 15335 PARK OF COMMERCE BLVD JUPITER, FL 33478

7/2/2024	50429
Date	Estimate #

Official Estimate

TENNESSEE LOCATION 933 CARTHAGE HWY

LEBANON, TN 37087

Bill To:	Ship To:
ATTN; ACCOUNTS PAYABLE	CITY OF LAUDERHILL PD 6279 W OAKLAND PARK BLVD. LAUDERHILL, FL 33313

Reference	24 F150 PPV COMM REL NO BOX X2			
Product	Description	Qty	Cust. Price	Total
TLI2D	ION T-SERIES LINEAR DUO R/W	2	113.10	226.2
TLI2E	ION T-SERIES LINEAR DUO B/W	2	113.10	226.2
LSVBK47C	Ford F-150, 2021, Under-the-Side View Mirror Mount for Two LINSV2™ Series Sold Separately, Pair (Does not Work with 360° Camera	2	19.72	39.4
LINOVOD	Package)		475.40	050.0
LINSV2R	SURFACE MT LINZ V-SERIES RED	2	175.16	350.3
LINSV2B	SURFACE MT LINZ V-SERIES BLUE	2	175.16	350.3
HERO-W	HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LEDS	8	108.50	868.0
HERO-ADAPTER13	(*Must use vehicle adaptor bezel for proper installation) 2021 FORD F150 REAR STOP/TAIL AND REVERSE LIGHT	8	11.40	91.2
HERO-A	HIDEAWAY LED W/AMBER INDICATOR LEDS/ R,B,A,W Warning LEDS	4	108.50	434.0
TILIO-A	(*Must use vehicle adaptor bezel for proper installation)	4	100.50	434.0
HERO-ADAPTER10	HIDEAWAY LED ADAPTER FOR 2021 TAHOE REAR TURN	4	11.40	45.6
SRUS-ERUN-STRIP-RB	60 INCH ELITE STRIP RED/BLUE/WHITE FOR USE UNDER TAIL GATE	2	296.82	593.6
W	OF FULL SIZE PICKUPS			
ULB9LDC-RBWW	STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT)	4	137.50	550.0
SRUS-ERUN-RBW	60 INCH ELITE RUNNER LIGHT, TRIPLE COLOR CAN BE PROGRAMMED FOR R/B-W, OR R/W-W, OR B/W-W ALL HAVE WHITE OVERRIDE	4	369.00	1,476.0
C-VSW-1700-F150-PM-4	12.5" Wide Flat 17" Vehicle-Specific Console With Internal PocketJet 8 Printer Mount For 2021-2023 Ford F-150	2	804.70	1,609.4
C-ARM-102	Side mount armrest	4	61.10	244.4
CUP2-1001	4" Self-Adjusting Double Cup Holder. Ocupies 4" of equip bracket space with a depth of 3"	2	43.55	87.1
C-EB40-CCS-1P	HAVIS FACE PLATE FOR WHELEN CENCOM 4"	2	0.00	0.0
C-AP-0645-L	6" accessory pocket w/hinged lid & lock, 4.5" deep	2	117.00	234.0
C-HDM-214	8.5" Heavy Duty Telescoping Pole, side mount	2	119.60	239.2
C-MD-112	Tilt/swivel slide motion adapter	2	238.55	477.1
UT-1006	Universal Rugged Cradle for approximately 11"-14" Computing Devices. This kit includes BOTH tall and short fingers in order to be compatible	2	242.30	484.6
	with all laptop sizes	Tax (7.0		\$0.0

Phone #	Fax #	E-mail	Web Site
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM

BSO BID 23004AP Page 2 of 5



POMPANO BEACH LOCATION 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

JUPITER LOCATION 15335 PARK OF COMMERCE BLVD JUPITER, FL 33478

Date	Estimate #
7/2/2024	50429

Official Estimate

TENNESSEE LOCATION 933 CARTHAGE HWY

LEBANON, TN 37087

Bill To:	Ship To:
CITY OF LAUDERHILL PD ATTN; ACCOUNTS PAYABLE 5581 W OAKLAND PARK BLVD LAUDERHILL, FL 33313	CITY OF LAUDERHILL PD 6279 W OAKLAND PARK BLVD. LAUDERHILL, FL 33313

Reference	24 F150 PPV COMM REL	. NO BOX X2				
Product		Description		Qty	Cust. Price	Total
PA1580-1921	Panasonic-compatible Tough	OC Power Adapter is designed to po book and to charge its internal batt The adapter supplies current and	ery from	2	152.00	304.00
LBX126 NEW USBC CABLE	NEW USBC CABLÉ FOR NE	SIDOOK 11-10 V EW 800 SERIES BROTHER PRINT E& ORDER POWER CABLE LB369		2	49.99	99.98
LB3692-003	POWER CABLE FOR BROT	HER PENTAX PRINTER		2	31.00	62.00
C-FP-15	1-1/2" Filler Plate			4	0.00	0.00
C-FPW-5	5" Filler Plate for Wide VSW	Consoles		2	0.00	0.00
C-FPW-4	4" Filler Plate for Wide VSW	Consoles		2	0.00	0.00
C-FPW-25	2-1/2" Filler Plate for Wide VS	SW Consoles		2	0.00	0.00
TREMCO-2021+F150	TREMCO ANTI THEFT WITH F150	H DIAGNOSTIC PORT BUTTON FO	OR 2021+	2	147.00	294.00
MZL-26SRU	OUTPUTS TOTAL OF 30 AM	EVEHICLE CONSOLE. FEATURES IPS. TIMER CAN BE SET FROM 1 DCKS, PRINTERS, CIG PLUGS, ET	5 MIN TO	2	119.00	238.00
316-01		kbox for Ford F150 Crew Cab 201	5+	2	494.10	988.20
INSTALL	CUSTOM INSTALLATION PE	ER HOUR		88	69.00	6,072.00
			Sales	Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	W	WW.STRO	DBES-R-US.C	OM
DEO DID 33004AD	ľ	1	T			Page 2 of l

BSO BID 23004AP Page 3 of 5



Bill To:

CITY OF LAUDERHILL PD

ATTN; ACCOUNTS PAYABLE

5581 W OAKLAND PARK BLVD

STROBES-R-US

POMPANO BEACH LOCATION 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

JUPITER LOCATION 15335 PARK OF COMMERCE BLVD JUPITER, FL 33478

Date	Estimate #
7/2/2024	50429

Official Estimate

TENNESSEE LOCATION 933 CARTHAGE HWY

LEBANON, TN 37087

Ship To:

CITY OF LAUDERHILL PD

LAUDERHILL, FL 33313

6279 W OAKLAND PARK BLVD.

LAUDERHII	LL, f	·L 33313					
Reference	24	4 F150 PPV COMM REL	NO BOX X2				
Product			Description		Qty	Cust. Price	Total
Product	P 1 1 W 1 B 1 T O S S 1 R W 1 LI 1 (L6 (T C (H1)	ROGRAM CORE SYSTEM X BREAKER (183-008) X WECAN X FRONT INNEI ITH WHITE OVERRIDE (B) X WECAN X REAR INNER LUE WITH AMBER OVERR X CORE SYSTEM WITH VI DNE WITH OBD CONNECT N PUSH BUMPER, INCLUE LIDE SWITCH (C399, CCTL AK1) X PUSH BUMPER WITH IN (B/R/B/R/B AND 45 DEGRE (HITE OVERRIDE (5297T-6 X RED LED WITH WHITE (GHT AREA, TLI2D) X BLUE LED WITH WHITE (GG LIGHT AREA, TLI2E) X RED LED WITH MIRROF NSV2R) X BLUE LED WITH MIRROF SVBK47C, LINSV2B) X HIDDEN LED'S IN REAR 2 X BLUE LED'S IN TOP CI URN, HERO-A, A10) 2 X WHITE (WILL STROBE HAMBER WITH ADAPTER, STOP, HERO-W, A13) 2 X BLUE LED'S IN BOTTO ERO-W, A13) X RED/BLUE 60 INCH ELIT X RED/BLUE 60 INCH ELIT	R EDGE DUO F150 1/2 RED 1/2 ISFW47Z-WCX-RB-W) EDGE DUO 10 POD F150 1/2 RED 1/2 ISFW47Z-WCX-RB-W) EDGE DUO 10 POD F150 1/2 RED IIDE (BSRW10-ISR47-WCX-RB/A) EHICLE-2-VEHCILE SYNC AND ISFW10 AND 2 SPEAKERS WITH BISTON AND 2 SPEAKERS WITH BISTON CONTROL PAND LT, C399K7, CEXAMP, CV2V, SANTEGRATED 6-POD LED STICK ISE ANGLED SIDE R/B LED'S. BOUSERU, COMEL6, SRU12D-RB-W) OVERRIDE IN FRONT DRIVER SOME AMOUNT DRIVER SIDE (LSVBKA) OR MOUNT DRIVER SIDE (LSVBKA) OR MOUNT PASSENGER SIDE IS LIGHT HOUSING (3 EACH SIDE HAMBER WITH ADAPTER, 1 EACE RED IN CHAMBER) LED'S IN M	ED 1/2) DUAL RACKETS IEL WITH 315P, TH WITH GIDE (FOG GER SIDE 47C, E): CH SIDE IDDLE EVERSE, ETWEEN	Qty		\$0.00
Phone #		Fax #	E-mail		V	Veb Site	
954-946-9955		954-946-9677	SALES@SRUS.COM	M WWW.STROBES-R-US.COM			MC

BSO BID 23004AP Page 4 of 5



POMPANO BEACH LOCATION 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

JUPITER LOCATION 15335 PARK OF COMMERCE BLVD JUPITER, FL 33478

Date	Estimate #	
7/2/2024	50429	

Official Estimate

TENNESSEE LOCATION 933 CARTHAGE HWY

LEBANON, TN 37087

Bill To:	Ship To:
CITY OF LAUDERHILL PD ATTN; ACCOUNTS PAYABLE 5581 W OAKLAND PARK BLVD LAUDERHILL, FL 33313	CITY OF LAUDERHILL PD 6279 W OAKLAND PARK BLVD. LAUDERHILL, FL 33313

Reference	24 F150 PPV COMM REL	NO BOX X2			
Product		Description	Qty	Cust. Price	Total
VEHICLE (SRUS-ERUN-RBW) 1 X CONSOLE WITH INTEGRATED PRINTER HOLDER (C-VSW-1700-PM-4) TO INCLUDE: 1 X 30AMP IGNITION TIMER INSIDE CONSOLE TO POWER ELECTRONICS FOR A SET TIME AFTER IGNITION SHUTDOWN. (MZL-26SRU) 2 X ARM REST (1 EACH SIDE) 1 X DUAL CUP HOLDER (CUP2-1001) 1 X FACE PLATE FOR CORE CONTROL PANEL (C-EB40-CCS-1P) 1 X STORAGE POCKET WITH LOCK LID (C-AP-0645-L) 1 X COMPUTER STAND WITH UNIVERSAL TRAY (C-HDM-214, C-MD-112, UT-1006) 1 X POWER CABLE FOR PJ822 PRINTER (LB3692-003) 1 X US CABLE FOR PJ822 PRINTER (LBX126) 1 X *CP* PRINTER 1 X LIND ADAPTER FOR TOUGHBOOK LAPTOP 1 X TREMCO SYSTEM (TREMCO-2021+F150) 1 X GUN LOCK UNDER REAR SEAT (316-01) 1 X CUSTOM MADE LOCKBOX FOR BED OF TRUCK (T-FDFSEM2-15S-PC-PW) INSTALL CUSTOM INSTALLATION PER HOUR 1 X *CP* ROCKET SYSTEM			WN. CS-1P) 214,	69.00	345.00
Due to the constantly changing cost of raw materials and updates to manufacturer list prices quotes are valid as follows: EMERGENCY VEHICLE DIVISION QUOTES VALID 30 DAYS		Subtotal \$25,295		\$25,295.42	
		Sales Tax (7.0	Sales Tax (7.00%) \$0.		
SPECIALTY VE	HICLE DIVISION QUOTES	VALID 10 DAYS	To	otal	\$25,295.42
Phone #	Fax #	E-mail	Web Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM		

BSO BID 23004AP Page 5 of 5